Current version

Prefixe: 37410 Date: 2009-10-30

	Heure
	Vendeur
	Totale Minute
	Nb Totale Appel 
	Nb Appel > 5s 
	Nb Appel > 30s 
	Nb Appel Echoue
	Nb Appel Rejete
	ACD (min)
	Rejet
	 

	10:56
	Verizon
	11128.47
	1294
	1234
	876
	616
	0
	8.6
	50 % 
	

	10:56
	Colt
	0
	0
	0
	0
	138
	0
	0
	0 % 
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Corrections

1
Add the date and change the title

	Date and Time
	Vendeur
	Totale Minute
	Nb Totale Appel 
	Nb Appel > 5s 
	Nb Appel > 30s 
	Nb Appel Echoue
	Nb Appel Rejete
	ACD (min)
	Rejet
	 

	2009-10-30 10:56
	Verizon
	11128.47
	1294
	1234
	876
	616
	0
	8.6
	50 % 
	

	10:56
	Colt
	0
	0
	0
	0
	138
	0
	0
	0 % 
	


2

Single merged cell for the date

(in html you can do it by sub-tables)

3

There are errors in French? (Appels, Rejeté, Echoués)

Make everything also in English and no errors in French
	Date and Time
	Vendeur
	Totale Minute
	Nb Totale Appel 
	Nb Appel > 5s 
	Nb Appel > 30s 
	Nb Appel Echoue
	Nb Appel Rejete
	ACD (min)
	Rejet
	 

	2009-10-30 10:56
	Verizon
	11128.47
	1294
	1234
	876
	616
	0
	8.6
	50 % 
	

	
	Colt
	0
	0
	0
	0
	138
	0
	0
	0 % 
	


4

Compute the numbers according to the following titles (order of titles is changed)
	Date and Time
	Vendor
	Billing priority
	Zero duration calls

Duration=0 
	Problems

0<duration≤5
	Short calls

5<duration≤30
	Total Calls 
	Total Minutes
	ACD (min)
	Targeted load balance
	Rejected to balance
	 

	2009-10-30 10:56
	Verizon
	9
	1234
	876
	616
	1294
	11128.47
	8.6
	51%
	0
	

	
	Colt
	8
	0
	0
	138
	0
	0
	0
	49%
	0
	


5

Make the histogram twice longer

Add a value in the histogram

Do it conditionally (only if the length of histogram is sufficiently long to fit the number)

6

The titles must clearly specify that we are not dealing with the total duration of calls within the interval but with the total duration of calls ENDED within the interval.

	Date (yyyy-mm-dd) and CET Time (hh:mm)
	Vendor
	Billing priority
	Zero duration calls

Duration=0 
	Problems

0<duration≤5
	Short calls

5<duration≤30
	Total Calls ended within the interval
	Total Minutes
	ACD (min)
	Targeted load balance
	Rejected to balance
	Total duration of all calls ended within the interval

	2009-10-30 10:56
	Verizon
	9
	1234
	876
	616
	1294
	11128.47
	8.6
	51%
	0
	1234



	
	Colt
	8
	0
	0
	138
	0
	0
	0
	49%
	0
	


7

Add descriptions of all titles

For instance specify that:

There are direct vendor connections and cloned connections passing via ACD router.

The following fields show the overall values of vendors across all its connections (direct and cloned together):

“Zero duration calls (duration=0)”

“Problems (0<duration≤5)”

“Short calls (5<duration≤30)”

“Total Calls ended within the interval”

“Total Minutes ACD (min)”

The field “Rejected to balance” concerns only the connections passing via the ACD router

8

Filename

Currently:

ACD_stat_2009-10-30_37410.html
Must be:

091030-acd-stat-37410.html

9
In http://www.unappel.ch/company/091029-ACDstat/
Add links to

http://switzernet.com/public/091020-acd-routing/
http://unappel.ch/public/091020-acd-routing/
and other available references

do not open the statistics in a new window, open in a current window

10

Keep only Armenia, Yerevan

Make the page public

The output must be the final production version

